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HPE_CIEF10_X cone sensitivity Ysum=100
m−F10_X,s(λ)=B21x

−
F10_X,s(λ)+B22y

−
F10_X,s(λ)

+B23z
−

F10_X,s(λ)
B2j −0,4299 1,2038 0,0862λ=540

P60:Σm−F10_X,s(λ)=87,67
xF10_X,s=0,3218
yF10_X,s=0,3316
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HPE_CIEF10_X cone sensitivity Ysum=100
m−F10_X,s(λ)=B21x

−
F10_X,s(λ)+B22y

−
F10_X,s(λ)

+B23z
−

F10_X,s(λ)
B2j −0,4299 1,2038 0,0862λ=540

P55:Σm−F10_X,s(λ)=86,68
xF10_X,s=0,3327
yF10_X,s=0,3411
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HPE_CIEF10_X cone sensitivity Ysum=100
m−F10_X,s(λ)=B21x

−
F10_X,s(λ)+B22y

−
F10_X,s(λ)

+B23z
−

F10_X,s(λ)
B2j −0,4299 1,2038 0,0862λ=540

P50:Σm−F10_X,s(λ)=85,49
xF10_X,s=0,3461
yF10_X,s=0,3519
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HPE_CIEF10_X cone sensitivity Ysum=100
m−F10_X,s(λ)=B21x

−
F10_X,s(λ)+B22y

−
F10_X,s(λ)

+B23z
−

F10_X,s(λ)
B2j −0,4299 1,2038 0,0862λ=540

P45:Σm−F10_X,s(λ)=84,03
xF10_X,s=0,3626
yF10_X,s=0,3641
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HPE_CIEF10_X cone sensitivity Ysum=100
m−F10_X,s(λ)=B21x

−
F10_X,s(λ)+B22y

−
F10_X,s(λ)

+B23z
−

F10_X,s(λ)
B2j −0,4299 1,2038 0,0862λ=540

P40:Σm−F10_X,s(λ)=82,21
xF10_X,s=0,3831
yF10_X,s=0,3775
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400 500 600 700

P35

0,0

2,5

5,0

7,5

10

HPE_CIEF10_X cone sensitivity Ysum=100
m−F10_X,s(λ)=B21x

−
F10_X,s(λ)+B22y

−
F10_X,s(λ)

+B23z
−

F10_X,s(λ)
B2j −0,4299 1,2038 0,0862λ=540

P35:Σm−F10_X,s(λ)=79,88
xF10_X,s=0,4089
yF10_X,s=0,3917
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HPE_CIEF10_X cone sensitivity Ysum=100
m−F10_X,s(λ)=B21x

−
F10_X,s(λ)+B22y

−
F10_X,s(λ)

+B23z
−

F10_X,s(λ)
B2j −0,4299 1,2038 0,0862λ=540

P30:Σm−F10_X,s(λ)=76,82
xF10_X,s=0,4413
yF10_X,s=0,4052
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HPE_CIEF10_X cone sensitivity Ysum=100
m−F10_X,s(λ)=B21x

−
F10_X,s(λ)+B22y

−
F10_X,s(λ)

+B23z
−

F10_X,s(λ)
B2j −0,4299 1,2038 0,0862λ=540

P25:Σm−F10_X,s(λ)=72,61
xF10_X,s=0,4816
yF10_X,s=0,4147


